COMPREHENSIVE SYSTEM NOTES (Version 1.0)
HKBU Simple 2 over 1 System
	GERENAL APPROACH (SYSTEM COLOUR = Green) ●

	Convenient minors: Natural responses, 5-card Major: 2/1 Game Force

Strong 1N/2N Artificial 2(: HCP showing
Flannary-2(, Weak 2(, Weak Two2(, Weak 3-Minor, Weak 3-Major


	Introduction to Opening Bids (33m = 1(, 44m = 1()


1( = 
a) 3( if 12-14 or 18-21, (43)33 or 4423



b) 4( if 12-14 or 18-21, (43)24 or 3334



c) 4( if 12-21, 4414



d) 5( if 12-14 or 18-21, (323)5



e) 5((+) if 12-21, Unbalanced hand



f) 5M6(if 19-21

1( =
a) 3( if 12-14 or 18-21, 4432



b) 4( if 12-14 or 18-21, (32)44 or (43)42 or 3343



c) 4( if 12-21, 4144 or 1444



d) 5( if 12-14 or 18-21, 3352 or (32)53

e) 5((+) if 12-21, Unbalanced hand



f) 5M6( if 19-21 
(if 5M6m 12-18 HCP, bid 1M rebid or jump minor)

	OPENING BIDS


1(

= 12-21HCP, 3-card+, no 5-card Major (except 5M6+m reverse hand)
1(

= 12-21HCP, 3-card+, no 5-card Major (except 5M6+m reverse hand)
1(

= 12-21HCP, 5-card(+
1(

= 12-21HCP, 5-card(+
1N

= 15-17HCP, balanced hand (may have 5-card Major)
2(

= 
a) 21+ HCP (4441), 21+ HCP exclude singleton K/Q/J
b) 22+ HCP

c) 8.5 playing tricks with at least 2 side suit honor controls (A/Ks)
2(

= 45xx, no void, Flannery, 11-15HCP
2(

= weak 2(, rule of 2/3
2(

= weak 2(, rule of 2/3
2N

= 20-21
3(+

= preemptive, rule of 2/3
3N

= 25-26
	1( OPENING


1(

= 6-11HCP, 4(+, no 4(/( or 12HCP+5(+4M
1(

= 6HCP+, 4(+
1(

= 6HCP+, 4(+
1N

= 6-10 HCP, no 4(/(
2(

= 11HCP+, 4(F1
2(

= Strong Jump Shift
2(/(
= Strong Jump Shift

2N

= invite, No 4-card Majors

3(/(
= preemptive
3(/(
= 7-card Weak Jump Shift

4(/(
= 8-card Weak Jump Shift
If 1( being X, all respond the same as above, XX = 10HCP+
	RESPONSES of 1( - (1()


X

= 6+HCP, 4-card+ both Major
1M

= 4-card+, F1

1N

= to play

2(

= Non-Forcing

2/3(
= Invite, Ask Stopper/ FG, Ask Stopper
2M

= Non-forcing

3(

= preemptive

3X

= Forcing
	RESPONSES of 1( - (1M)


X

= 6+HCP, 4-card+ in Other Major

1(

= 5(+, F1

1N

= to play

2(/(
= Non-Forcing

2M/3M
= Invite, Ask Stopper/ FG, Ask Stopper

2oMajor = Non-Forcing

3(

= preemptive

3X

= Forcing

	RESPONSE OF 1( - 1(


1(

= 4(, unbalance hand, 4414 or x4x5+
1(

= 4(, No 4 card(, unbalance hand, 4xx5+
1N

= BAL, NF, can have 4-card M
2(

= 6(+, NF

2(

= 12-15HCP, 5(+4(+
2(/(
= FG, 4-card+
2N

= 18-19HCP, balanced hand, no 4-card Major

3(

= 16-21HCP, 6(+
3(

= 16-21HCP, 5(+4(+
3N

= 20-21HCP, balanced hand, can have 4-card Major

	RESPONSES OF 1( - 1(


1(

= 4(, can have 4( if 16HCP+ 4414 or 4405
  

2( = 4th suit Game Forcing
1N

= NF, no 4(
 

2( = New Minor Forcing, invite+
2(

= minimum, 6(+



2( = New Minor Forcing, invite +
2(

= 16-21HCP, 5(+4(+
2(

= NF

2(

= FG, 5(+4(+
2N

= 18-19 HCP, balanced hand, no 4(
3(

= 16-21HCP, 6card+

3(/(
= Splinter
3(

= invite, 4(+
3N

= 20-21 HCP, 3433 hand

4(

= 18-21 HCP, 6(+4(
4(

= 14-18 HCP, 6(+4(
4(

= 18-21, 4(, 2425 or balanced hand
	RESPONSES OF 1( - 1(


1N

= NF

  

2( = New Minor Forcing, invite +
2(

= minimum, 5(+

  

2( = New Minor Forcing, invite +
2(

= 16-21HCP, 5(+4(+, F1
2(

= 16-21HCP, 5(+4(+, F1
2(

= NF

2N

= 18-19 HCP, balanced hand, no 4(
3(

= 16-21HCP, 6card+

3(/(
= Splinter
3(

= invite, 4(+

3N

= 20-21 HCP, 4333 hand

4(

= 18-21 HCP, 6(+4(
4(

= 14-18 HCP, 6(+4(
4(

= void Splinter

4(

= 18-21, 4(, 2425 or balanced hand
	RESPONSES OF 1( - 2(


2(/(/(
= Stoppers, any strength
2N

= Minimum, Stoppers in (&( 
3(

= minimum
3X

= Splinter
	RESPONSE OF 1( - 1(- (1M)


X

= 4-card Other Major
1N/2(/(
= NF

Cue bid
= Ask stopper

	RESPONSE OF 1( - 1( - 1(


1(

= 4th suit Game Forcing
1N/2(/( = NF

2(

= NF, 4(
2(

= 5(4(, Forcing
2N

= invite

3(/(
= invite

3(

= invite, 4(
3(

= Splinter
3N

= NF

4(

= 6(4(, slam try
	RESPONSE OF 1( - 1(- 1(


1N/2(/(
= NF

2(

= 4(5( Forcing
2(

= 4(5( Forcing
2N

= invite

3(/(
= invite

3/4(
= Splinter/void splinter
4(

= 6(4(, slam try
	RESPONSE OF 1( - 1(- 1N


2(/2( = NF
2( = 4(5( Forcing

2( = 4(5( Forcing
2N = invite

3(/( = invite

	RESPONSES OF 1( - 1( - 2( - 2(


2( = 3(, priority
2( = no 3(, No stoppers in ( and (
2N = no 3(, stoppers
3( = 4(6( or 7-card (
	RESPONSES OF 1( - 1( - 2(


2(

= 5(+, NF
2(

= FG, 4(+
2N

= minimum, forcing to 3(
  3( = Forced
    Pass / 3( = NF


3( = FG, Bad Suit, 6(+, 

    3N = 8-10HCP
3( = FG, 6(+5(+
  3( = FG, 4( support
  3N = NF

3(

= FG, 3(+, fit-(
  

3(/3(/3( = Cue Bid
3(

= FG, 4(+
  

3(/3( = Cue Bid
3(

= FG, Good Suit, 6(+
  

3(/4( = Cue Bid
4( = 6(+5(+
  

3N = NF

3N

= 11-12HCP
	RESPONSES OF 1( - 1( - 2N


3N/4(
= NF

3(

= FG, 5(+, fit-(
  

3(/3(/3( = Cue Bid
3(

= Ask Major
  

3( = 3(
  

3N = no 3(
3(

= FG, 6(+
  

3(/4(/4( = ( support, Cue Bid
  

3N = no (-fit

3(

= 5(4(
	RESPONSES OF 1( - 1( - 3(


3N/4(

= NF

3(

= Cue Bid (A
  

3N= waiting for ( Cue Bid
4(

= Cue Bid (A / K
4(

= Cue Bid (A
	RESPONSES OF 1( - 1( - 1( - 2(


2(

= 3(
2(

= No 3(, No stopper in (
2N

= no 3(, stoppers in (
3(

= 4(6(+
3(

= 4(+, FG

3N

= 18-19
	RESPONSES OF 1( - 1( - 1N - 2(


2(

= 3(, priority
2(

= No 3(, No stoppers in (
2N

= No 3(, stoppers
	RESPONSES OF 1( - 1( - 1N - 2(


2(

= 4(, no 3(
2(

= 3(, priority
2N

= No 3(, No 4(
	RESPONSES OF 1( - 1( - 2( - 2(


2(

= 4(, no 3(
2(

= 3(, priority
2N

= No 3(, No 4(
3(

= 6(+
	RESPONSES OF 1( - 1( - 2(


2(

= FG, 4(+
2(

= 5(+, NF
2N

= minimum, forcing to 3(
  3( = Forced
    Pass / 3( = NF

3( = FG, Bad Suit, 6(+
    3N = 8-10HCP
  3( = 6(+5(+, FG

  3( = FG, 4( support
  3N = NF

3(

= FG, 3(+, fit(
  

3(/3(/3( = Cue Bid
3(

=FG, 4(+
  

/3(/4( = Cue Bid
3(

= FG, Good Suit, 6(+
  

4(/4( = Cue Bid, fit-(
4( = 6(+5(+
  

3N = NF

3N

= 11-12HCP
	RESPONSES OF 1( - 1( - 2(


2(

= 5(+, NF 

2N

= minimum, forcing to 3(
  

3( = Forced
    

Pass = NF

    

3( = 5(+, NF



3( = FG, Bad Suit, 6(+
    

3N = 8-10HCP or 11-12HCP, No (A or (K
  

3( = FG, 6+(5(+
  

3( = FG, 4( support
  

3N = NF

3(

= FG, 3(+, fit(
  

3(/3(/3( = Cue Bid
3(

= FG, 4(+
  

3( = FG, 6+(5(+
 

 3( = FG, 4( support
  

3N = NF

3(

= FG, 4(+
  

3(/4(/4( = Cue Bid
3(

= FG, Good Suit, 6(+
  

4(/4( = Cue Bid
  

4( = FG, 6+(5(+
  

3N = NF

3N

= 11-12HCP
	RESPONSES OF 1( - 1( - 2N


3N/4(
= NF

3(

= FG, 5(+, fit-(
  

3(/3(/3( = Cue Bid
3(

= Ask Major
  

3( = 4(, no 3(
  

3( = 3(
  

3N = No 3(, No 4(
3(

= FG, 4(+
  

3(/4(/4( = (-fit, Cue Bid
  

3N = no (-fit  

3(

= FG, 6(+
  

4(/4( = (Ax / Kx support, Cue Bid
  

3N = no (-fit
	RESPONSES OF 1( - 1( - 3(


1( - 1( - 3(
3N/4(
= NF

4(/(/(
= Cue Bid
	1( OPENING


1(

= 6HCP+, 4(+
1(

= 6HCP+, 4(+
1N

= NF, 6-10HCP
2(

= FG, no 5-card Major
2(

= 11HCP+, 4(+
2(/(
= Strong Jump Shift

2N

= invite, no 5-card Major

3(

= invite, 6(+

3(

= preemptive

3(/(
= 7-card Weak Jump Shift

4(/(
= 8-card Weak Jump Shift
If 1( being X, all respond the same as above, XX=10HCP+
	RESPONSES OF 1(- 1(


1(

= 4(
  

2(= 4th suit Game Forcing
1N

= NF, no 4( or 4(
  

2(= new minor forcing, invite +
2(

= minimum, 4(+, 5(+
2(

= minimum, 6(+


2(= New Major Forcing
  

3(= new minor forcing, FG
2(

= NF, 4(
2(

= FG, 5(+4(+
2N

= 18-19 HCP, balanced hand, 4(
3(

= 16-21HCP, 4card(+, 5card(+
3(

= 16-21HCP, 6card(+
3(

= invite, 4(+
3(

= Splinter
3N

= 18-19 HCP, 3433 hand

4(

= 18-21 HCP, 6(+4(
4(

= 14-18 HCP, 6(+4(
4(

= 18-19, 4( 2452 or unbalance
	RESPONSES OF 1( - 1(


1N

= NF
  

2(
= new minor forcing, invite +
2(

= minimum, 4(+5(+
2(

= minimum, 5(+
  

3(
= new minor forcing, FG
2(

= 16-21HCP, 4(+
2(

= NF

2N

= 18-19 HCP, balanced hand, no 4(
3(

= 16-21HCP, 4(+5(+
3(

= 16-21HCP, 6(+
3(

= Splinter
3(

= invite, 4(
3N

= 20-21 HCP, 4333 hand

4(

= 18-21 HCP, 6(+4(
4(

= 14-18 HCP, 6(+4(
4(

= void Splinter

4(

= 18-19, 4(, 4252 or unbalance
	RESPONSES OF 1( - 1N


2(

= minimum, 4(+5(+
2(

= minimum, 6(+
2(/(
= 16-21HCP, 5(+4M+or 4441
2N

= 18-19HCP, balanced hand

  

3(= 6(+, slam try

  

3(= 5(+, slam try
3(

= 16-21HCP, 4(+5(+
3(

= 16-21HCP, 6(+

3N

= Solid ( to play or same strength
	RESPONSES OF 1( - 2(


2(

= 5(+, priority
2(

= 4(, no 5(
2(

= 4(, no 4(, no 5(
2N

= balanced hand, no 4M, may have 4( with good M stopper
3(

= 4(+, if 44m, then only when poor Major stopper
3(

= 6(+, good suit
3(

= Splinter, no 4M normally
3(

= Splinter, no 4M normally
3N

= 18-19, no M, no 5(
	RESPONSES OF 1( - 2(


2(/2(
= Stoppers, any strength

2N

= Minimum, Stoppers in (&(
3(

= suit, FG

3(

= minimum

3M

= Splinter
	RESPONSES OF 1( - 1( - 1( - 2(


2(

= 5(+
2(

= 3(, priority 
2(

= 4243 no stoppers in (
2N

= 4243 stoppers in (
3(

= 4144 or 4054
3(

= 4( 6(+

3(

= 4(, FG

	RESPONSES OF 1( - 1( - 1N - 2(


2(

= 5(
2(

= 3(
2(

= no 3(, no stoppers
2N

= no 3(, stoppers
3(

= 5(, 3(, 2353 or 3352
	RESPONSES OF 1( - 1( - 2( - 2(


2N

= Balanced, 6(

3(
= 5(, FG
3(

= 6(4(

3(
= fit (, FG

others= fit (, Cue Bid
3(

=7(

3M
= fit (, Cue Bid

	RESPONSES OF 1( - 1( - 2( - 3(


3(

= 6(+

3(

= 3(, priority
3(

= No (-fit, ( stoppers no ( Stoppers
3N

= to play

4(

= Cue bid, fit-(
	RESPONSES OF 1( - 1( - 2N


3N/4(
= NF
3(
= Ask (



3( = 3(



3N = No 3(
3(

= FG, 4+(
3(

= 5(4(
	RESPONSES OF 1( - 1( - 3(


3(

= sign off

3(

= 6 card+, Forcing

3(

= 4th suit forcing

4(/(
= RKC

	RESPONSES OF 1( - 1( - 3N


4(

= NF

4(/(
= Cue Bid
After Cue Bid, 4( is waiting (i.e. - 4( - 4( - 4( = wait for 4( or 5()
	RESPONSES OF 1( - 1( - 1N - 2(


2(

= 5(
2(

= 4(, no 3(
2(

= 3(
2N

= Balanced hand
3(

= 5(, 3(, 3253 or 3352
	RESPONSES OF 1( - 1( - 2( - 3(


3(

= 6(+

3(

= 4(, no 3(
3(

= 3(
3N

= to play

4(/(/(
= Cue bid, fit-(
	RESPONSES OF 1( - 1( - 2N


3N/4(
= NF

3(

= Ask Major
3( = 4(, no 3(
  

3( = 3(
  

3N = No 3( 
3(

= FG, 4(+
3(

= 4(+, 5(+FG
3(

= 6(+
	RESPONSES OF 1( - 1( - 3(


Pass/3(
= sign off

3(

= 4th suit forcing

3(

= 6 card+, Forcing

4(/(
= RKC

	RESPONSES OF 1( - 1( - 3(


3N/4(
= NF

4(/(/(
= Cue Bid
	1( OPENING


1(

= 6HCP+, 4(+
1N

= 6-12HCP, No 4(
2(/(
= FG+, 4-card+

2(

= NF

2(

= strong jump shift, good suit quality
2N

= 12HCP+, Jacoby 2N
3(

= 6-9HCP, 4(+

3(

= 10-12HCP, 4(+

3(

= preemptive
3(/4(/(
= Splinter

3N

= 13-15 HCP, 3433
4(

= preemptive

	RESPONSES of 1( - (X)


XX

= 10+, penalty oriented

1(

= 4(, Forcing
1N

= Forcing 1N

2(/(/(
= Non-Forcing

2(

= constructive

2N

= limit or better raise

3(/3(/(
= Suit, Forcing
3(

= preemptive

	RESPONSES OF 1( - 1(


1N

= BAL, minimum
2(/(
= 4-card+
2(

= minimum, 6(+

2(

= 12-14HCP, 6(+4(+ or 45(40) hand
2N

= 18-19HCP, balanced hand
3(/(
= 16-21HCP, 4-card+

3(

= 16-21HCP, 6(+
3(

= 15HCP+6(+4(+ or 45(40)
	RESPONSES OF 1( - 1N


2(/(
= 3(/3(+, NF
2(

= 6(+, NF
2(

= 16HCP+, 4(+
2N

= 18-19HCP, 2533
3(/(
= 16-21HCP, 4-card+

3(

= 16-21HCP, 6(+
3N

= 20-21HCP, balanced hand

4(/(
= Splinter
4(

= to play

	RESPONSES OF 1( - 1N - 2(


2(

= 5(+, NF

2(

= 2(+, NF
2(

= invite with 4(

3(
= to play
2N

= invite 3N
3(/(
= 5(+/6(+invite
3(

= 9-11, 3(+
3N

= to play
	RESPONSES OF 1( - 1N - 2(


2(

= 2(+, NF
2(

= invite with 4(

3(
= to play
2N

= invite 3N
3(

= 6(+NF

3(

= 5(+invite
3(

= 9-11, 3(+
3N

= to play
	RESPONSES OF 1( - 1N - 2(


2N

= invite 3N
3(/(
= 6(+/6(+NF

3(

= 9-11, 2(+
3N

= to play
	RESPONSES OF 1( - 1N - 2(


2N

= minimum, forcing to 3(
  

3( = Forced
    

Pass / 3(/3( = NF

    

3N = 8-10HCP

3( = FG, 4(+
  

3( = FG, 6(
3( = FG, 6(5(
  

3N = NF

3(

= FG, 6(+
3(

= FG, 6(+
3(

= FG, 3(+
  

3(/4(/4( = Cue Bid

  

3N = Waiting

3(

= FG, 4(+
3N

= 11-12HCP
	RESPONSES OF 1( - 1N - 2N


Pass
= sign off

3(/(/(
= FG, 5(+, fit-( /5(+, fit-(/3(+, fit-(
3N

= to play
	RESPONSES OF 1( - 2N


3(/(/(
= singleton or void in (/(/(
3(

= maximum, 6(+

3N

= 11-14HCP, balanced hand (poor ( suit)

4(/(/(
= 5-card+suit

4(

= minimum
4N

= 20-21HCP, balanced hand
	RESPONSES OF 1( - 2(


2(/3(/(
= help suit

2N

= invite 3N
3N

= to play

	RESPONSES OF 1( - 2(


2(

= 4(+
2(

= 6(+, no 4(, may have 4(
2(

= 4( no 4(, no 6(
2N

= Balanced hand(may hide 4( if too good side suit stopper)
3(

= 4(+
3(

= Splinter

3(

= Solid suit
3(

= Splinter
3N

= 18-19
	RESPONSES OF 1( - 2(


2(

= 6(+, may have 4(
2(

= 4(, no 6(
2N

= Balanced hand(may hide 4()
3(

= 4(+, non-minimum
3(

= 4(+

3(

= Solid suit

3(

= Splinter
3N

= 18-19

4(

= Splinter
	1( OPENING


1N

= forcing one round
2(/(
= FG+, 4-card+

2(

= FG+, 5(+

2(

= 3(+, constructive
2N

= 12+, Jacoby 2N
3(

= 6-9HCP, 4(+

3(

= 10-12HCP, 4(+

3(

= invitational, 10-11, 6(+
3(

= preemptive
3N

= 13-15HCP, 4333 or 3433 hand

4(/(/(
= Splinter
4(

= preemptive

	RESPONSES of 1( - (X)


XX

= 10+, penalty oriented

1N

= Forcing

2(/(/(
= Non-Forcing

2(

= constructive

2N

= limit or better raise

3(/(/(
= Suit Forcing
3(

= preemptive

	RESPONSES OF 1( - 1N


2(/(
= 3-card+

2(

= 4(+

2(

= 6(+
2N

= 18-19HCP, balanced hand

3(/(/(
= 16-21HCP, 4-card+

3(

= 16-21HCP, 6(+
3N

= 20-21HCP, balanced hand

	RESPONSES OF 1( - 2N


3(/(/(
= singleton or void in (/(/(
3(

= maximum, 6(+

3N

= 11-14HCP, balanced hand (poor ( suit, No A No K, no QJ together)

4(/(/(
= 5-card+
4(

= minimum
4N

= 20-21HCP, balanced hand
	RESPONSES of 1( - 2(


3(/(/(
= help suit

2N

= invite 3N
3N

= to play

	RESPONSES OF 1( - 2(


2(

= 4(+
2(

= 4(+, no 4(, may have 6(
2(

= 6(+ no 4(, no 4(
2N

= Balanced hand(may hide 4( if too good side suit stopper)
3(

= 4(+
3(/(
= Splinter

3(

= Solid suit
3N

= 18-19
	RESPONSES OF 1( - 2(


2(

= 4(+, may have 6(
2(

= 6(, no 4(
2N

= Balanced hand(may hide 4()
3(

= 4(+, non-minimum
3(

= 4(+

3(

= Solid suit

3(

= Splinter
3N

= 18-19

4(

= Splinter
	RESPONSES OF 1( - 2(


2(

= 6(+
2N

= Balanced hand(may hide 4m)
3(

= 4(+, non-minimum
3(

= 4(+, non-minimum

3(

= Hxx(+) or xxxx support
3(

= Solid Suit
3N

= 18-19

4(/(
= Splinter

4(

= 4-card support, minimum no Aces
4(

= To play, 7+card
	1N OPENING


2(

= Stayman do not promise 4-card Major

  

2( = no 4-card Major
2( = 4(+
2( = 4(+, no 4( 
2(

= Transfer
  

2( = forced

  

2( = super accept
2(

= Transfer
  

2( = forced

  

2N = super accept

2(

= (a) both minors, any strength, or (b) weak ( bust
2N

= (a) FG+, (4441) or 44(50), or (b) weak ( bust
3(/(
= invite, 6-card+with two of AKQ

3(/(
= invite slam, 6(/(+with two of AKQ
3N

= NF

4(

= Gerber

4(/(
= Texas Transfer

4(/4N
= quantitative, 6 controls+ / without 6 controls

	RESPONSES OF 1N - 2( - 2(


2(

= invite, 5+(4(
2(

= invite, 5+(4(
2N

= invite
3(/(
= FG+, 5-card+

3(

= FG+, 5(+and 4(+
  

3N = NF

    

4( = 6(+, re-transfer

3(

= FG+, 5(+and 4(+
  

3N = NF

    

4( = 6(+, re-transfer

3N

= NF
	RESPONSES OF 1N - 2( - 2(


2(

= invite, no 4-card Major

3(
= 5-card H, try 4(
2N

= invite with 4(

3(
= 5-card H, try 4(

3(
= to play
3(/(
= FG+, 5-card+

3(

= invite
3(/4(/(
= splinter
3N /4(
= NF

	RESPONSES OF 1N - 2( - 2(


2N

= invite
3(/(
= FG+, 5-card+

3(

= invite
3N

= NF

4(/(/(
= splinter
4(

= NF
	RESPONSES OF 1N - 2(


2(

= Forced

  2N = invite 3N with 5(

3( = Honors in (, accept invite

3( = Honors in (, accept invite

3( = to play 3(
  3( = FG, 4(+

3( = fit-(

3N = no fit


Other = fit-( cue bid
  3( = FG, 4(+

3( = fit-(

3N = no fit


Other = fit-( cue bid

  3( = 6( invite

  3N = to play

  4( = Mild Slam try

2(

= Super Accept

  2N = Re-transfer
  3( = FG, 4(+

3( = fit-(

Other = fit-( cue bid
  3( = FG, 4(+

3( = fit-(

Other = fit-( cue bid

  3N = to play

	RESPONSES OF 1N - 2(


2(

= Forced


Pass = to play
  

2N = Invite to 3N



3( = Honors in (, accept invite



3( = Honors in (, accept invite



3( = to play 3(
  

3( = FG, 4(+



3( = fit-(



3N = no fit




Other = fit-( cue bid

  

3( = FG, 4(+



3( = fit-(



3N = no fit




Other = fit-( cue bid

2N

= Super Accept

  

3( = FG, 4(+



3( = fit-(



3N = no fit




Other = fit-( cue bid

  

3( = FG, 4(+



3( = fit-(



3N = no fit




Other = fit-( cue bid

  

3( = Re-Transfer
  

3N = to play

	RESPONSES OF 1N - 2(


2N

= No 4-card Minor
  

3(= NF, 5(+5(+
  

3(= NF, 6(+
  

3(= xx(55)+, stiff (
  

3(= xx(55)+, stiff (
  

3N = to play, 22(54)
3(

= 4(+


Pass = weak both minor
  

3( = NF, 6(+
  

3( = FG, xx(54)+, stiff (
  

3( = FG, xx(54)+, stiff (
  

3N = to play, 22(54)

  

4( = RKC in (
3(

= 4(+

  

Pass = NF, 6(+ or weak both minor
  

3( = xx(54)+, stiff (
  

3( = xx(54)+, stiff (
  

3N = to play, 22(54)

  

4( = RKC in (
	RESPONSES OF 1N - 2N


3(

= Forced


Pass = to play(Weak ( Suit, 6+ good suit quality, or 7+)


3( = FG, 4414 or 4405
  

3( = FG, 4144
 

3( = FG, 1444


3N = FG, 4441
  

4( = FG, 4441(too strong to bid 3N) or 4450
	RESPONSES OF 1N - 4(


4(

= 0 or 3 Aces

4(

= 1
4(

= 2 Aces
4N = sign off

5( = Ask K

5( = 0 or 3 Kings
5( = 1 or 4 Kings
5( = 2 Kings
    

5N/6N = sign off
4N

= 4 Aces
	2( OPENING


HCP Showing: (not counting J)
2(

= 0-4HCP
2(

= 5-7HCP
2(

= 8-10HCP
2N

= 11+HCP
3(/(
= 6(+ / 6(+, 1-suiter, 4-5HCP concentrated in (/(
3(/(
= 5(+, 1-suiter, 4-5HCP concentrated in (/(
After 2( - positive


Opener jump shift = 4441 stiff next suit
After 2( - 2( simple raise to opener means better hand, jump mean splinter
After 2( - 2( - 3(/(, 3(/( = 4-card+

After 2( - 2( - 3N, development is same as 3N opening
	RESPONSES OF 2( - (X)


HCP Showing: (not counting J)
Pass
= 0-4HCP
XX

= 5HCP+, 5(+
2(

= 5-7HCP

2(

= 8-10HCP
2(

= 11+HCP

3(/(
= 6(+ / 6(+, 1-suiter, 4-5HCP concentrated in (/(
3(/(
= 5(+, 1-suiter, 4-5HCP concentrated in (/(
After 2( - positive


Responder new suit within the same level = 4+


Responder new suit up 1 level = 5+
	RESPONSES OF 2( - 2(


2N

= 22-23HCP, NF

3N

= 24-25HCP, NF
  

4(
= Baron, SF, ask for 4-card or 5-card suit

4(
= Transfer to (
4(
=Transfer to (
4(
= minor suit Stayman

4N
= Special Blackwood
4N

= 28-29HCP, NF
2(/(/3(/( = 5-card+, Forcing 1 round
3(/(/4(/( = 25HCP+, 4441 stiff next suit (for 21-24, just bid 2( or 2()
	RESPONSES OF 2( - 2( - 2N


3(

= Stayman

3(/(
= Transfer to (/(
3(

= minor suit Stayman

3N

= NF

4(

= Gerber

4(/(
= Texas Transfer to (/(
	2( OPENING


2(/2(
= NF
2N

= Asking

  

3(/(= 3(/(
  

3( = 4522, 11-13HCP

  

3( = 4522, 14-16HCP

  

3N = 4522, 14-16,Honor doubleton in both minor
3(/3(
= NF

3(/3(
= invite

3N

= NF

4(/4(
= NF
	2( OPENING


2N

= Ogust
2(/3(/(= 5-card+, Forcing
3(

= preemptive

3N

= NF

	2( OPENING


2N

= Ogust
3(/(/(
= 5-card+, Forcing
3(

= preemptive

3N

= NF

	RESPONSES OF Ogust


3(

= minimum, bad trumps

3(

= minimum, good trumps

3(

= maximum, bad trumps
3(

= maximum, good trumps
3N

= solid trumps

SLAM CONVENTIONS

Gerber

Grand Slam Force:

Roman Keycard Blackwood:

5( = 1 or 4 keycards

5( = 0 or 3 keycards
5( = 2 or 5 keycards without trump Queen

5( = 2 or 5 keycards with trump Queen

All response being interference, X(XX) = step 1, Pass = step 2, bid+ = step 3+
Cue Bid Style

Partner suit, A/K, then Q

New Suit, A

Void: No need to cue bid
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